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NEW QUESTION 1
A technician is troubleshooting an old desktop system that randomly shows a Windows BSOD or powers off unexpectedly. All system temperatures are within
normal limits. Which of the following should the technician do NEXT?

A. Visually inspect the motherboard capacitors.

B. Verify all case fans are operational.

C. Check that the BIOS version supports the installed CPU.

D. Compare the software requirements with the installed RAM.

Answer: A

Explanation:
BSoDs can be caused by poorly written device drivers or malfunctioning hardware, such as faulty memory, power supply issues, overheating of components, or
hardware running beyond its specification limits. In the Windows 9x era, incompatible DLLs or bugs in the operating system kernel could also cause BSoDs.

NEW QUESTION 2
Upon booting a workstation, a technician hears a distinct clicking sound after power is applied to the motherboard. Which of the following would MOST likely be the
cause?

A. RAID
B. SSD
C.SMAAR.T
D. HDD

Answer: D

Explanation:
The clicking sound is the sound of a damaged disk in the HDD

NEW QUESTION 3
A network technician has been tasked with creating a patch cable. The RJ45 connectors will not slay attached to the cable. Which of the following tools Is needed
to fix this Issue?

A. Cable tester

B. Crimper

C. Punchdown tool
D. Loopback plug

Answer: B

Explanation:

A crimper is a tool that is used to crimp (attach) an RJ45 connector onto the end of a patch cable. The crimper applies pressure to the connector to make a
permanent connection between the connector and the cable, ensuring that the connector will stay attached to the cable.

A cable tester is used to test the connectivity of a network cable. A punchdown tool is used to terminate network cables in a patch panel or keystone jack. A
loopback plug is a diagnostic tool that is used to test network interfaces by simulating network traffic.

NEW QUESTION 4
A desktop support technician is tasked with upgrading a laptop so that it has the fastest data access possible. Which of the following BEST satisfies this
requirement?

A. mSATASSD
B. M.2NVMeSSD
C. 2.55ATASSD
D. 2.5S5ASHHD

Answer: B

NEW QUESTION 5
A user reports a cell phone is getting hot. Which of the following are MOST likely to be possible causes? (Select THREE).

A. Using the device as a Wi-Fi hotspot

B. A cracked screen

C. A failing battery

D. Less than 15% free storage space on the phone

E. Privileged control

F. Recurring prompts to install OS updates

G. Granting too many application camera permissions
H. Too many open applications

Answer: ACH

NEW QUESTION 6
A user wants a second monitor installed on a laptop. The VGA/DVI or HDMI cables have already been connected. Which of the following should the technician do
to configure the laptop to show both screens?
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A. Power cycle the laptop.

B. Plug in the monitor to the USB port.
C. Adjust the monitor display settings.
D. Power cycle the monitor.

Answer: C

NEW QUESTION 7
A technician is tasked with installing additional RAM in a desktop computer. Which of the following types of RAM is MOST likely to be used?

A. SODIMM
B. DDR3
C.ECC

D. VRAM

Answer: B

NEW QUESTION 8
Vertical streaks are appearing on the output of a laser printer. Which of the following items is the MOST likely cause?

A. Roller

B. Drum

C. Transfer belt
D. Ribbon

Answer: B

Explanation:
Vertical or horizontal lines—Marks that appear in the same place (referred to as repetitive defects) are often due to dirty feed rollers (note that there are rollers in the
toner cartridge and fuser unit too) or a damaged or dirty photosensitive drum.

NEW QUESTION 9
A thermal punier that is used 10 print order buckets m a factory has been experiencing Issues following the failure of the alt conditioner during the summer. Each
ticket has blank spots or is missing text. Which of the following would MOST likely solve these Issues?

A. Restore function to the air conditioner.
B. Clean the heating element.

C. Replace the paper rolls.

D. Install new toner.

Answer: D

NEW QUESTION 10
A company has a dot matrix printer that uses carbon paper. The company reports that the first page is printing too light, although the following pages are still
legible. Which of the following MOST likely needs to be fixed?

A. The print drum is worn and loose causing the printing to be light in places

B. The ribbon is low on ink or missing and must be replaced to get proper output

C. The heating element has failed, and a new one needs to be installed for proper transfer
D. The wrong type of filement is loaded, preventing it from sticking correctly

E. The fuser assembly is not calibrated properly, causing it to impact the paper too hard

Answer: B

Explanation:
Dot Matrix printers do not use heat, they use a pin striking an inked ribbon (for the first copy, the subsequent copies are handled by the carbon paper)

NEW QUESTION 10
Which of the following network types would be used in a server room to connect virtual servers lo high-speed storage?

A. WAN
B. PAN
C. MAN
D. SAN

Answer: D

NEW QUESTION 12
A technician needs to improve a workstation's overall response time for frequently used applications and data without removing the current hard drive. Which of the
following storage devices should the technician install to BEST accomplish the objective?

A.M.2

B. SAS
C. HDD
D. SCSI
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Answer: A

NEW QUESTION 17
A Wi-Fi mesh network has been optimized to eliminate poor coverage areas, yet users still experience decreased bandwidth and connectivity issues. Which of the
following actions should the technician take NEXT?

A. Relocate any large, dense, solid, and metal objects, such as mirrors and file cabinets, in the mesh network coverage area to the perimeter so that wireless
reflections, absorptions, and occlusions are minimized.

B. Use a Wi-Fi analyzer to determine whether the channel in use is overcrowded and to identify which channel the mesh network should use for best performance.
C. Use the signal strength indicator on a mobile device to roam the coverage area and generate a heat map to isolate zones with weak signals.

D. Turn off broadcasting of the SSID on the mesh network so that other networks cannot see it.

Answer: B

NEW QUESTION 18
An insurance company wants to implement cloud computing and would like a cloud solution in which the infrastructure is shared with businesses in the same
industry. Which of the following cloud models BEST addresses the company's need?

A. Community
B. Private
C. Public
D. Hybrid

Answer: D

Explanation:

In a hybrid cloud model, the infrastructure is shared between public cloud services and an on-premise private cloud. This means that the insurance company can
benefit from the scalability and cost-effectiveness of public cloud services, while also having the control and security of a private cloud. This allows the company to
access resources that are specialized to their industry, while also ensuring that their data and infrastructure are kept secure.

NEW QUESTION 23
Which of the following would MOST likely be used to obtain electronic images of a large number of printed documents?

A. NFC device

B. ADF/flatbed scanner
C. Camera/webcam

D. QR scanner

Answer: B

NEW QUESTION 24
Which of the following connectors can be plugged into a Thunderbolt 3 port on a laptop?

A. minilUSB
B. microUS3
C. USB-A
D. USB-C

Answer: C

Explanation:
Thunderbolt 3 is a USB-C port, so any device with a USB-C connector can be plugged into it. MiniUSB, microUSB and USB-A are not compatible with Thunderbolt
3.

NEW QUESTION 25
A salesperson is using a weather application on a mobile device. The application appears to be draining the device's battery very quickly. Which of the following is
the BEST action for the salesperson to take in order to view weather forecasts while travelling?

A. Enable the GPS service to ensure accurate location detection.

B. Manually enter office locations in the weather application.

C. Configure less frequent location checks using cellular location services.
D. Use the offices' Wi-Fi IP addresses as the geolocation mechanism.

Answer: B

Explanation:
https://nerdschalk.com/how-to-fix-weather-app-battery-drain-on-ios-16/

NEW QUESTION 28
An organization has some computers running macOS and some computers running Windows. The computers running macOS also need to run a piece of software
that is only available on Windows. Which of the following BEST describes the solution for running Windows software on a computer running macOS?

A. Operating system spoofing

B. Remote software provisioning
C. Indirect software implementation
D. Cross-platform virtualization
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Answer: D

NEW QUESTION 32
A technician is replacing a computer with a connected point-of-sale system using a 9-pin serial adapter. The new computer does not have a 9-pin serial port.
Which of the following ports can an adapter be installed on in order to connect to the point-of-sale system?

A. HDMI
B. Bluetooth
C.USB
D. Lightning

Answer: A

NEW QUESTION 35
A user, who is attempting to give a presentation via a projector in a conference room, reports the projector has video but no audio. Which of the following will
MOST likely resolve the issue?

A. Changing the input on the projector to VGA
B. Changing the output on the PC to DVI

C. Modifying the projector's refresh rate

D. Utilizing an HDMI connection

Answer: D

NEW QUESTION 37
A customer is using a satellite internet connection that is experiencing slowness. A technician notices high latency while pinging, but the download test is
performing perfectly with very good download speeds. Which of the following represents the NEXT action the technician should perform?

A. Restart the modem and run an online internet connection and speed diagnostic tool.

B. Guide the customer on how to upgrade the internet plan with the provider in order to improve latency.
C. Explain to the customer this is not an issue; this situation is normal for this type of internet connection.
D. Replace the modem because it is not working correctly based on the test result.

Answer: A

NEW QUESTION 42
A technician wants to deploy a .msl package lo a corporate network. The technician needs to verily the application deployment will not affect other legacy
applications on the end users' computers. Which of the following would the technician consider the MOST appropriate for this situation?

A. Virtual network

B. Application virtualization

C. Cross-platform virtualization
D. Virtual sandbox

E. Virtual desktop

Answer: A

NEW QUESTION 46
Which of the following describes metered utilization of cloud resources?

A. Resources provisioned instantly

B. Payments made only for resources that are used
C. Resources pooled to increase computing power
D. Implementation of rapid elasticity

Answer: B

NEW QUESTION 47

While implementing a non-carrier-grade wireless backhaul, a technician notices the current channel selection is externally polluted with various RF signals. Upon
performing a spectral analysis, the technician discovers a channel containing almost no RF pollution. Unfortunately, the technician is unable to select that channel.
Which of the following is the MOST likely reason for this issue?

A. The channel is reserved for licensed band use.
B. The channel selection is defective, contact the manufacturer.
C. The channel must be unblocked by the vendor.
D. The device requires a firmware update to unlock the channel.

Answer: A

Explanation:

The 2. band is subdivided into up to 14 channels, spaced at 5 MHz intervals from 2412 MHz up to 2484 MHz. Wi-Fi requires bandwidth of approximately 20 MHz,
not 5 MHz. Consequently, a site designer needs to choose the channels that do not overlap. On a WLAN where only the first 11 channels are available, channels
1, 6, and 11 can be selected as non-overlapping. Note: In the Americas, regulations permit the use of channels 1-11 only, while in Europe, channels 1-13 are
permitted. In Japan, all 14 channels are permitted.
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NEW QUESTION 50
A company wants to give third-party developers access to the corporate network through desktop environments that the company can control. Which of the
following can BEST achieve these requirements?

A. Sandbox

B. VDI

C. Private cloud
D. Saas

Answer: B

Explanation:

VDI is a technology that allows a company to provide desktop environments to third-party developers while still maintaining control over the corporate network. VDI
creates virtual desktops on a remote server, and each user gets their own desktop environment that is isolated from the other users. This allows the company to
maintain control over the corporate network, as the virtual desktops are not directly connected to the corporate network.

NEW QUESTION 54
Which of the following commonly uses NFC?

A. Contactless payments
B. loT devices

C. Inventory tracking

D. Tethering

Answer: C

NEW QUESTION 57

A technician is working on a critical warehouse machine that will not turn on. The technician has determined the power supply for the machine failed. The
warehouse manager is looking for a solution that will prevent downtime in the future. Which of the following devices should the technician install to meet this
requirement?

A. Grounded power supply
B. Modular power supply

C. 220V power supply

D. Redundant power supply

Answer: D

Explanation:

A redundant power supply is a device that provides two or more power supplies connected in parallel so that when one fails, the other one will take over to ensure
continuous power. This is ideal for critical warehouse machines that require a reliable power source and are at risk of downtime in the event of a power failure.
Installing a redundant power supply will help to reduce the chances of an unexpected power outage and keep the machine running.

NEW QUESTION 61
A user is installing a new display on a desktop computer that only has a single DVI port for video input and a single HDMI port tot video output Which of me
following does the technician need to complete the setup?

A. DigitaMo-analog converter
B. A/v switcher

C. DisplayPort to HDMI adapter
D. DVI to HDMI cable

Answer: D

Explanation:

The technician will need to connect the DVI port on the computer to the new display's HDMI port. To do this, a DVI to HDMI cable will be needed. This type of
cable will allow the computer's DVI video signal to be transmitted to the new display's HDMI port.

A digital-to-analog converter (DAC) is used to convert a digital signal to an analog signal. An A/V switcher is used to switch between multiple audio and video

sources and display them on a single monitor or display. A DisplayPort to HDMI adapter is used to convert a DisplayPort signal to an HDMI signal, but it is not
necessary in this scenario as the computer has a DVI port and not a DisplayPort.

NEW QUESTION 63
A technician is receiving reports that the entire office sporadically loses network connectivity throughout the day. The technician determines the root cause to be
EMI. Which of the following cable mediums would be the MOST cost effective without sacrificing system performance?

A. Coaxial

B. Shielded Cat 6

C. Plenum Cat 5e

D. Multimode fiber

Answer: B

NEW QUESTION 67

A developer is requesting permission to utilize client-side visualization. The developer would like to write code in a setting isolated from other infrastructure to avoid

negative impacts of experimental code. Which of the following provides the BEST solution for the developer?

A. Cross-platform functionality
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B. Software compatibility
C. Test case development
D. Sandbox environment

Answer: D

NEW QUESTION 70
An organization maintains various record types, including health and criminal justice records. Which of the following cloud environments is the organization MOST
likely to use to limit the attack surface?

A. Public
B. Hybrid
C. Community
D. Private

Answer: D

NEW QUESTION 72
Which of the following would an administrator use to migrate virtual machines from on premises to the cloud?

A. laaS
B. SaaS
C. DBaaS
D. DRaaS

Answer: A

NEW QUESTION 74
Which of the following cables replaced the Apple 30-pin connector and is also reversible?

A. USB-C

B. Lightning
C. miniUSB
D. DisplayPort

Answer: B

Explanation:
Lightning Connector: Apple introduced this brand-new connector back in 2012. It is over 80% smaller than the 30-pin connector and is reversible.
https://www.cablewholesale.com/support/technical_articles/whats_your_port.php#:~:text=Lightning%20Connec

NEW QUESTION 76
A new version of Windows was released and a piece of software vital to the engineering department will not run on the new version. Which of the following is the
BEST option to enable this department to be able to continue using this software?

A. Do not upgrade any workstations within the organization.

B. Upgrade all workstations and provide a virtual environment for the legacy software.
C. Upgrade all workstations except those used by the engineering department.

D. Purchase new workstations for the engineering department.

Answer: B

NEW QUESTION 79
Which of the following network devices is used to separate broadcast domains?

A. Switch

B. Wireless access point
C. Router

D. Hub

Answer: A

NEW QUESTION 82

A technician was called in to look at a user's PC. The user reported the PC was very sluggish. The HDD light on the PC was constantly on without blinking. The PC
itself was slow receiving input and took a very long time to load the OS. The technician also noticed updates had failed. Which of the following is MOST likely the
cause of these issues?

A. The hard disk drivers have been corrupted

B. The HDD cables need reseating.

C. A RAID disk failed.

D. The HDD has no free space.

Answer: A

NEW QUESTION 86
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A technician needs to install a cost-effective storage device into a rackmount server that will be used as a VM host. This storage will be used for all VMs that run
from the server. Which of the following should be used?

A. Optical disk drive

B. eMMC storage device
C. 15,000rpm drive

D. RAID 10 array

Answer: C

NEW QUESTION 87
A technician is setting up a laptop with an encrypted hard drive. The laptop will securely store a PIN that the user will input at log-on. Which of the following must
be installed to set up this configuration?

A. TPM
B. HSM
C. UEFI
D. ARM

Answer: A

Explanation:

TPM stands for Trusted Platform Module, and it is a special chip installed on a computer’'s motherboard that stores encryption keys, passwords, and digital
certificates. It can also securely store a user’s PIN, allowing them to access the laptop without having to enter the PIN every time they log on. TPM is a secure
way to store and protect sensitive data, making it ideal for use in laptops that need to securely store a PIN.

NEW QUESTION 90
A technician recently discovered me root cause of an application error that several users have been experiencing. The technician updated the configurations on
the affected machines and verified full functionality was restored for all users, which of the following actions should the technician perform NEXT?

A. Write a knowledge base article in the ticketing software to expedite future Incidents.

B. Submit a bug report to the developer of the application, along with the steps taken to resolve the Issue.
C. Work with the developer to proactively collect the application logs to identify future errors of this type.
D. Send an email communication to the company about the issue and the steps taken to resolve it.

Answer: A

Explanation:

CompTIA 6-Step Troubleshooting Process:

* 1. Identify the problem.

* 2. Establish a theory of probably cause. (Question the obvious)

* 3. Test the theory to determine cause.

* 4. Establish a plan of action to resolve the problem and implement the solution.

* 5. Verify full system functionality and if applicable implement preventative measures.
* 6. Document findings, actions, and outcomes.

NEW QUESTION 91
A help desk technician has been tasked with installing an IP phone in a small office with an unmanaged switch. When connected to an RJ45 receptacle, the phone
does not boot. Which of the following is the QUICKEST way to resolve this issue?

A. Upgrade the Ethernet cable to the latest specification.
B. Replace the phone.

C. Install a PoE injector.

D. Change ports on the switch.

Answer: C

Explanation:
https://intellinetnetwork.eu/pages/what-is-a-poe-injector

NEW QUESTION 93
The help desk received a ticket regarding Issues with a laser printer. The printer has had repairs previously for scanning Issues. Currently, the printed text is not
adhering properly to the paper. Which of the following should be replaced lo resolve this Issue?

A. Fuser
B. Waste container
C. Roller
D. Toner

Answer: D

NEW QUESTION 97

A systems administrator is attempting to resolve a ticket regarding an issue with an email server. The administrator is covering for a coworker who was previously
working on the ticket. The coworker already gathered facts about the issue and spoke with users concerning their missing emails. The coworker also discovered
the email server's retention policy was updated shortly before users first noticed the issue. Which of the following should the systems

administrator do NEXT to resolve the email issue?

A. Escalate the ticket to a higher level to resolve the email server issue.
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B. Test a theory to determine the cause of the email server issue.
C. Establish a theory of probable cause for the email server issue.
D. Create a plan of action to resolve the email server issue.

Answer: C

Explanation:

Before attempting to resolve the issue, it is important to first determine the cause or probable cause of the issue, so that a plan of action can be developed. In this
case, the fact that the retention policy was updated shortly before users first noticed the issue suggests that this could be the cause of the issue. The systems
administrator should investigate this further to determine if this is indeed the cause of the email server issue.

NEW QUESTION 99

A technician is troubleshooting a computer that is not completing POST and gets stuck at the manufacturer logo screen. All internal, removable parts have been
disconnected and only the minimum parts necessary to POST were reconnected. However, the symptoms remain the same. Which of the following should the
technician try NEXT?

A. Test the RAM in different slots, one at a time.
B. Remove and test the power supply.

C. Replace the motherboard.

D. Change the CMOS battery.

Answer: A

Explanation:

CMOS is for date and time and should not stop a host from booting. If working on a host with ECC memory you would test the ram in a different slot or a different
Stick all together. If that did not work, | would swap in the other CPU to check if that is the issue. The ECC part isn't important other than thats what I'm used to
working on at AWS and that is the only way you would be able to swap the CPUs easily.

NEW QUESTION 101
A technician needs to install a printer on the network. Which of the following must the technician configure? (Select THREE).

PCL

. Dots per inch

. Gateway

. Subnet mask
MAC address
MB

. IP address

. Drivers

ITOMTmMoOOw>

Answer: AEH

NEW QUESTION 105
An online retailer wants to save money and is considering migrating to the public cloud so peak is over. Which of the following BEST describes this aspect of cloud
computing?

A. Rapid elasticity
B. Metered utilization
C. Shared resources
D. High availability

Answer: A

Explanation:
Rapid elasticity is only suitable for a domain whose resource requirements suddenly up and down for a specific time interval. Referring to the question the online
retailer wants to migrate to public cloud services during peak season, then wants it to be removed "automatically" when the peak is over.

NEW QUESTION 107
An IT manager discovered that hundreds of pages of printed materials are being recycled each day because the materials are left on the printer tray instead of
being picked up by users. Which of the following would BEST prevent this waste?

A. Send friendly reminders to not print unnecessarily.
B. Enable duplex printing to reduce paper utilization.
C. Bill each department for the excess material cost.
D. Require a code or badge before releasing a print job.

Answer: B

NEW QUESTION 110

Which of the following is the SAFEST way to replace RAM on a server that has a redundant power supply?
A. Unplug one power cable.

B. Verify the RAM temperature.

C. Utilize a grounding strap.

D. Replace the RAM while the server is running.

Answer: C
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Explanation:

Utilizing a grounding strap is the safest way to replace RAM on a server that has a redundant power supply. This ensures that no static electricity is transferred to
any of the server components, which could cause permanent damage. The other options are not the correct methods for replacing RAM. Unplugging one power
cable is not recommended, as it could cause the server to go offline and disrupt any services that are running. Verifying the RAM temperature is not necessary and
does not provide any additional safety measures, and replacing the RAM while the server is running is not recommended, as it could cause system instability.

NEW QUESTION 113
Which of the following is a valid use for PaaS?

A. Off-site backups

B. An application development environment

C. A virtual server installation and configuration model
D. A web application for asset management

Answer: B

NEW QUESTION 118
A technician installs a new printer for a workstation and tries to print a test page, but the page does not print. The technician looks at the print queue and notices
that the printer is called 'Generic Printer." Which of the following BEST describes what the technician should do to fix this issue?

A. Connect the printer with a USB cable rather than over the network.
B. Install the appropriate printer drivers for the OS.

C. Install the correct toner in the printer.

D. Set the printer trays to allow duplex printing

Answer: B

NEW QUESTION 123
A technician is working on a help desk ticket for a user who wants the filament replaced in a 3-D printer. Which of the following should the technician do to remove
the old filament and load the new one?

A. Preheat the nozzle to melting temperature.

B. Cut a sharp angle on the end of the strand.

C. Push the filament along until resistance is felt.
D. Withdraw the filament and remove the spool.

Answer: D

Explanation:

A technician is working on a help desk ticket for a user who wants the filament replaced in a 3-D printer. To remove the old filament and load the new one, the
technician should preheat the nozzle to melting temperature. After the nozzle is heated, the technician should withdraw the filament and remove the spool. Then,
cut a sharp angle on the end of the new strand, and push it along until resistance is felt.

NEW QUESTION 127
A technician is troubleshooting a point-of-sale primer that Is printing blank receipts. Which o( the following should the technician do to resolve the Issue?

A. Verify the correct type of paper is loaded.

B. Install the latest print driver.

C. Check to see if the default printer has been changed.
D. Ensure the printer is connected to power.

Answer: D

NEW QUESTION 132
A client wants to connect an external keyboard to an Android tablet. Which of the following connection types are appropriate for this task? (Select TWO).

A. DVI

B. Infrared
C. Lightning
D. USB-C
E. PS/2

F. Bluetooth

Answer: AD

NEW QUESTION 134
A technical lead wants to migrate all common business applications, including email and fileshares, to the cloud. Which of the following cloud concepts should be
used?

A. MaaS
B. PaaS
C. SaaS
D. laaS

Answer: C
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NEW QUESTION 135
A user is unable to plug a USB 3.0 device into a USB port. Upon inspection, a technician notices the USB 3.0 port appears to be slightly smaller than the other
connections. Which of the following Is the MOST likely cause?

A. A foreign object Is stuck Inside the port

B. The cable connection utilized the wrong orientation.
C. The USB cable is physically damaged.

D. The USB port belongs to a different form factor.

Answer: D

Explanation:
USB 3.0 ports are slightly smaller than other USB connections, so if the port appears to be the wrong size, it is likely that the port belongs to a different form factor.
This can be caused by a number of factors, such as the device being too old to support USB 3.0, or the device not having a USB 3.0 port in the first place.

NEW QUESTION 136
A laptop's external webcam software is running, but it shows no image or video. Which of the following should a technician perform FIRST?

A. Research new webcam firmware.

B. Restart the computer and run system diagnostics.
C. Reseat the webcam.

D. Reinstall the webcam software and drivers.

Answer: C

Explanation:
https://www.lifewire.com/fix-it-when-webcam-is-not-working-4588517

NEW QUESTION 141
Which of the following would MOST likely be used to connect one or more devices lo the internet in a SOHO?

A. Hub

B. Ethernet gateway

C. Wireless access point
D. Router

Answer: C

NEW QUESTION 142
An end user reports that the time and date on a desktop resets after shutdown, and subsequently, the device reboots. The next day, the desktop does not load the
OS and is stuck at a black screen with the following message:

Which of the following would be the BEST action to take next?

A. Change the motherboard.

B. Reseat the motherboard power connections.
C. Replace the CMOS battery.

D. Restore the BIOS to factory default settings.

Answer: C

NEW QUESTION 146
A user on a SOHO network is unable to watch online videos, even at 240 pixels. The technician runs ipconfig from the user's computer and records the following:

The technician then connects a test laptop to the router via the user's Cat 5 cable and records the following information:

Which of the following is MOST likely causing the user's issue?
A. Incorrect IP address

B. Faulty NIC

C. Misconfigured default gateway

D. Bad network cable

Answer: B

NEW QUESTION 149
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A system administrator has been tasked with allowing SMTP traffic through the system’s host-based firewall. Which of the following ports should the administrator
enabled?

A. 23
B. 25
C. 80
D. 161

Answer: A

NEW QUESTION 154
A technician is inspecting a projector that is displaying fuzzy images. Which of the following actions would provide the BEST solution?

A. Adjusting the lens

B. Changing the filter

C. Replacing the video cable
D. Reseating the lamp

Answer: A

NEW QUESTION 158
Which of the following components enables the input on a mobile device's touch screen?

A. OLED

B. Digitizer

C. Inverter

D. CMOS sensor

Answer: B

NEW QUESTION 163
A laptop PC user is reporting issues with the hard drive. A filesystem check shows that all files are accessible and the filesystem is clean. After the check, the PC
still issues a hard drive error message. Which of the following is the MOST likely cause of the error?

A. S.M.A.R.T failure
B. IOPS failure
C. DIMM failure
D. RAID failure

Answer: A

NEW QUESTION 168

To control costs a company provides a limited number or users with company phones One of these users opens a support ticket because the phone no longer
allows internet Drowsing over a cellular connection The user acknowledges that the phone worked before the user's child streamed several movies using the
device Which of the following describes why the phone cannot browse the Internet?

A. The child accidentally connected to a neighbor's WLAN
B. The company's group policy disabled the device

C. The device has a data cap and has reached that limit
D. The device's plan has been unpaid

Answer: C

Explanation:

It is common for companies to place a data cap on the devices they provide to their employees, to control costs. If a user has exceeded the data cap, the phone
may no longer allow internet browsing over a cellular connection. This is usually because the cellular data usage has exceeded the allotted amount for the
particular plan the device is on, and the service provider has temporarily suspended the data connection.

It is unlikely that the child accidentally connected to a neighbor's WLAN because this would not affect the cellular data connection. Similarly, it is unlikely that the
company's group policy has disabled the device, as this would likely affect all devices under the same policy. If the device's plan has been unpaid, the service
provider would likely temporarily suspend all services, not just the cellular data connection.

NEW QUESTION 171
Which of the following allows a switch to be divided into separate logical networks?

A. VLAN

B. SSL VPN
C. NAT

D. RADIUS

Answer: A
Explanation:
A Virtual LAN (VLAN) is a network topology that allows a switch to be divided into separate logical networks. This allows for the creation of multiple broadcast

domains within a single physical network, improving network segmentation and security. With VLANS, you can segment your network so that different departments,
applications, or users are isolated from each other, improving network security and performance.

NEW QUESTION 174
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A technician installed new firmware on the company's laser printers and has since been receiving multiple calls that information is garbled and looks like code.
Only printers with the new firmware are having this issue. Which of the following steps should the technician complete NEXT?

A. Change the language settings on the printers

B. Reboot all the machines having the issues

C. Reboot all the printers.

D. Install an updated printer driver on the print server

Answer: C

NEW QUESTION 178
Which of the following options provides correct information about 2.4GHz and 5GHz wireless frequencies? (Select TWO)

A. 2.4GHz has less interferenc

B. 5GHz transmits inlower speed.

C. 2.4GHz penetrates solid objects more effectivel
D. 5GHz provides faster data connections.
E. 2.4GHz has a higher data rat

F. 5GHz has 23 channels.

G. 2.4GHz has Il channel

H. 5GHz has no data interference.

I. 2.4GHz has a higher coverage are

J. 5GHz has higher bandwidth.

K. 2.4GHz has a higher bandwidt

L. 5GHz has lower transmit power.

Answer: BE

Explanation:

The correct answers are B. 2.4GHz penetrates solid objects more effectively. 5GHz provides faster data connections and E. 2.4GHz has a higher coverage area.
5GHz has higher bandwidth. The 2.4GHz frequency has a lower data rate compared to 5GHz, but it can penetrate solid objects more effectively and has a higher
coverage area. The 5GHz frequency, on the other hand, provides faster data connections and has higher bandwidth, but it has fewer channels and lower transmit
power.

NEW QUESTION 179
A hardware technician is configuring a laptop, and the network administrator requires the network settings to be static. The technician successfully pings the
servers by IP address but cannot ping the UNC path. Which of the following is the cause of this issue?

A. Domain Name System
B. Gateway

C. Subnet

D. IP address

Answer: A

NEW QUESTION 182
Which of the following concepts would be used by an online retailer to quickly add more web servers during peak sales times?

A. Community cloud
B. Rapid elasticity
C. High availability
D. Metered service

Answer: B

NEW QUESTION 187

A technician is selling up a projector (or a videoconferencing system. When the user all empts to connect a laptop to the system, the system displays the following
error message.

No source found

The user tries multiple cables and inputs on the projector. Which of the following should the user try NEXT?

A. Check the bulb on the projector and replace it with a new one.

B. Check the display settings on the computer and set them to extend/duplicate.

C. Replace the projector with another known-good one and try again.

D. Replace the video card on the machine that is plugged in to the projector, as it has gone bad.

Answer: B

NEW QUESTION 192
A user on the marketing team uses various multimedia applications that consume a lot of memory. The user needs to install more RAM to run these applications
effectively. When the user opens the computer case, the user sees four slots in two sets of colors. Which of the following memory types is MOST likely required?

A. Dual-channel

B. Triple-channel

C. Single-channel

D. Quad-channel

E. Error correction code RAM
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Answer: A

NEW QUESTION 193
A user requested upgrades to a company-issued laptop to increase its performance while working with a large database stored on drive C. Which of the following
tasks should a systems administrator complete to BEST meet this goal? (Select TWO).

A. Configure RAID 1.

B. Install a hybrid drive.

C. Upgrade to 1GB NIC.

D. Increase the RAM.

E. Migrate to a SSD.

F. Upgrade the power supply.

Answer: BD

Explanation:
CompTIA covers it in page 97 of the comptia A+ complete study guide.

NEW QUESTION 197
A technician replaced a motherboard on a server, and now the 64-bit hypervisor is not loading correctly. Which of the following needs to be enabled for the
hypervisor to run?

A. Hardware prefetcher
B. Hyperthreading

C. vPro

D. VT-d

Answer: D

Explanation:
https://techlibrary.hpe.com/docs/iss/proliant-gen10-uefi/s_enabling_VT-d.html

NEW QUESTION 200

A technician has set up a new conference room with a TV and a video soundbar. The technician wants to test the system with a conference call. During the test,
the TV speaker produces sound, but the soundbar does not.

Which of the following is the MOST likely cause of the issue?

A. The volume on the TV needs to be turned up.

B. The conference call needs to be unmuted for audio.
C. An incorrect HDMI cable is being used.

D. The TV's HDMI-ARC port is not being use

Answer: D

Explanation:

HDMI-ARC (Audio Return Channel) is an HDMI connection that allows audio to be sent from the TV to an external sound system, such as a soundbar. If the TV's
HDMI-ARC port is not being used, then the soundbar will not receive any audio from the TV and thus will not produce any sound. To resolve the issue, the
technician should ensure that the TV's HDMI-ARC port is being used to connect the TV to the soundbar.

NEW QUESTION 205
A technician receives several error alerts on a server after an unexpected reboot. A message states that one or more disks are in a degraded state. When the
technician advances to the next error message, it indicates the OS is missing. Which of the following are the MOST likely causes of these errors? (Choose two.)

A. Missing drives in the OS
B. RAID failure

C. Bootable device not found
D. Data loss

E. Controller failure

F. CMOS corruption

G. TPM malfunction

Answer: BC

NEW QUESTION 209

A technician responds to a help desk ticket that indicates a user's workstation is not booting. The technician initially suspects a failed hard drive. The technician
performs diagnostics and confirms the hard drive is fully operational.

Which of the following steps should the technician complete NEXT?

A. Reinstall the operating system.

B. Configure a new RAID array.

C. Report the status of the drive and close the ticket.
D. Consider another possible cause of the issue.

E. Restore the latest backup of the system.
Answer: D

Explanation:
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Since the hard drive appears to be functioning normally, the technician should investigate other potential causes of the issue. This could include checking the BIOS
settings, verifying the connections to the hard drive, and testing the RAM. Once these steps have been completed, the technician can then take the necessary
steps to resolve the issue.

NEW QUESTION 211

The IT department issued a corporate smartphone to a user, but the user returned the device stating it had connectivity Issues. The user claimed the device
functioned on WI-FI but all connectivity to cloud services was lost as soon as the device was taken off site. Which of the following issues was MOST likely affecting
the device?

A. MDM was never properly set up on the device.

B. S/IMIME certificates were corrupted and needed to be reloaded.
C. Bluetooth on the device was disabled by mistake.

D. The device never had a proper SIM card installed.

Answer: D

Explanation:

A SIM card is needed for the device to use cellular network services, so without it, the device will be unable to connect to the cloud services when taken off site.
MDM (Mobile Device Management) can be used to manage settings and access on a device, but it is not necessary for the device to be able to use cloud services.
S/MIME (Secure/Multipurpose Internet Mail Extensions) certificates are used to encrypt and digitally sign emails, and are not related to device connectivity.
Bluetooth can be used to connect devices together, but it is not necessary for the device to be able to use cloud services.

NEW QUESTION 214
A user contacts the help desk in reference to a failing thumbprint scanner. The user states the scanner was functioning correctly yesterday. Which of the following
troubleshooting steps should be performed FIRST after the ticket has been filed?

A. Inquire about possible changes.
B. File a damage report.

C. Requisition a new scanner.

D. Attempt to clean the scanner.

Answer: A

Explanation:

http://www.221021.com/Hardware/input-output-devices/32310.html

* 1. Identify the problem.

Gather information from the user, identify user changes, and, if applicable, perform backups before making changes.

Inquire regarding environmental or infrastructure changes.

* 2. Establish a theory of probable cause (question the obvious).

If necessary, conduct external or internal research based on symptoms.

* 3. Test the theory to determine the cause.

Once the theory is confirmed, determine the next steps to resolve the problem. If the theory is not confirmed, re-establish a new theory or escalate.
* 4, Establish a plan of action to resolve the problem and implement the solution. Refer to the vendor's instructions for guidance.
* 5. Verify full system functionality and, if applicable, implement preventive measures.

* 6. Document the findings, actions, and outcomes.

NEW QUESTION 215
A user that works is sales is reporting that the output on each page printed from a laser has duplicate images. Which of the following should be performed FIRST
to eliminate the ghost images?

A. Change the paper weight setting.
B. Replace the printer's fuser.

C. Upgrade the printer firmware.

D. Clean the toner drums and rollers

Answer: C

NEW QUESTION 219
Which of the following network devices would an administrator use to distribute traffic evenly throughout multiple nodes?

A. Load balancer
B. Bridge

C. Proxy server
D. Switch

E. Firewall

Answer: A

Explanation:

A load balancer is a network device that distributes network or application traffic across multiple servers to ensure that no single server bears too much of the load.
Load balancing helps to improve application availability, increase scalability, and optimize resource utilization.

A bridge is used to connect two different networks, often to divide a larger network into smaller segments. A proxy server is used to forward client requests to other
servers, and can also be used to cache frequently requested data. A switch is used to connect multiple devices within a network and to control the flow of network
traffic. A firewall is used to secure a network by controlling incoming and outgoing traffic based on defined security rules.

NEW QUESTION 224
A user reports that printed receipts have black smudges over the entire image. The text is still present but is very dark and sometimes illegible. Which of the
following are the MOST likely cause and solution for the printer issue?
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. The ribbon is jammed and is rubbing on the pape
. Clear the bad ribbon and feed it through properly.
. The printhead is too ho

. Adjust the temperature down and retry printing.

. The printer is loaded with the wrong type of pape
. Replace the receipt paper with carbon paper.

. The blue ink cartridge was loaded with black in

. Put in the correct ink and clean the printhead.

IOMNMMmMmOO >

Answer: B

Explanation:

Receipts are printed via a thermal printer. Thermal printers work by heating a paper in specified areas in order to create an image. The specific component that
does this is a thermal printhead. Since the image appears to have black smudges and is too dark, we know the thermal printhead is too hot since the capability of
precise heating has diminished

NEW QUESTION 225
A company needs to support a 10Gbps throughput. Which of the following is the MINIMUM cable category that could be used?

A.Cat5s
B. Cat 5e
C.Catb
D. Cat 6a

Answer: C

NEW QUESTION 228
Client-side virtualization guest machines have security requirements similar to physical machines, but they also need to ensure separation from other guest
machines. Which of the following BEST describes this client-side guest security requirement?

A. Isolation

B. Authentication
C. Hardening

D. Authorization

Answer: A

NEW QUESTION 233

A startup is looking to immediately expand its data center but does not have the personnel or space to manage everything internally. The organization has multiple
small offices and remote users with large computational and storage-solution requirements. Funding is not an issue for the company. Which of the following can
BEST accomplish the company's goals?

A. SaaS
B. laaS
C.ISP
D. SON

Answer: B

NEW QUESTION 236
A colleague has a laptop that has been working as expected for several years wall outlet. The MOST likely component that needs to be replaced is the:

A. power adapter.
B. battery.

C. system fan.

D. hard drive.

Answer: B

NEW QUESTION 239
A technician set up a new access point and has noticed significant latency on the selected channel. Which of the following tools can assist with locating the BEST
channel to use?

A. Wi-Fi analyzer
B. Netstat

C. Net use

D. Traceroute

E. Network tap

Answer: A
Explanation:

A Wi-Fi analyzer is a tool that can be used to scan the local area for available wireless networks and can provide information such as signal strength, interference,
and available channels. It can also be used to locate the best channel to use for a given access point, which can help to reduce latency and improve performance.

NEW QUESTION 244
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A user entered a help desk ticket stating the latest calendar updates have not appeared on the user's corporate mobile device for several days, even though
updates do appear on the user's laptop. Which of the following actions will MOST likely enable calendar alerts?

A. Checking that the ringer volume on the device is high enough to be audible

B. Ensuring the corporate password is saved correctly in the calendar application

C. Installing a third-party calendar application and synchronizing it with the corporate calendar
D. Remotely wiping the mobile device and reinstalling all applications

Answer: B

NEW QUESTION 249
Which of the following is used to implement network security polices for an environment?

A. Managed switch
B. Repeater

C. Firewall

D. Gateway

Answer: A

NEW QUESTION 253
Which of the following would be BEST reason to use a virtual machine as a sandbox?

A. To test new software in a safe environment

B. To increase the efficient use of computing resources
C. To run multiple machines on the same hardware

D. To have dedicated hardware for a single system

Answer: A

NEW QUESTION 258
A technician is troubleshooting a projector that will not display any Images. The technician has verified the computer output and cable are providing a good video
signal. Which of the following should the technician do NEXT?

A. Calibrate the image.

B. Replace the bulb.

C. Test the output resolution.
D. Clean the fans.

Answer: A

NEW QUESTION 263
Which of the following cloud models maintains access, even when a local internet outage occurs?

A. Private

B. SaaS

C. Community
D. Public

Answer: A

Explanation:

In a private cloud model, the cloud infrastructure is maintained within a company's own data center and is used exclusively by that company. Private clouds offer
the advantage of maintaining access even when a local internet outage occurs, since the cloud infrastructure is not dependent on a public network connection.
Software as a Service (SaaS) is a cloud model in which software applications are hosted by a third-party provider and made available to customers over the
internet. Saas is not designed to maintain access in the event of a local internet outage.

A community cloud is a shared infrastructure that is used by multiple organizations, typically from the same industry or with similar requirements. Community
clouds are not designed to maintain access in the event of a local internet outage.

A public cloud is a cloud infrastructure that is maintained by a third-party provider and is made available to the public over the internet. Public clouds are not
designed to maintain access in the event of a local internet outage.

NEW QUESTION 267
Which of the following describes the operational difference between hubs and switches when transmitting data to a specific computer inside the network?

A. Switches only send data to the specific computer, while hubs send data to all computers inside the network.

B. Switches compress data while hubs send uncompressed data

C. Switches receive data and route it to all computers inside the network while hubs receive data and do not route
D. Switches scramble data, while hubs send data in the original form.

Answer: A

NEW QUESTION 271

A user is trying to play a DVD on a projector. The user can hear the audio; however, the projector is showing an error message that states:
HDMI Blocked due to Copy Protection

Which of the following is the MOST likely cause of the error?

A. The HDMI cannot carry the signal from the DVD to the projector.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 220-1101 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/220-1101/ (171 New Questions)

B. The user needs to switch from HDMI to a cable standard such as DisplayPort.
C. The projector does not support the necessary HDCP protocol.
D. The user needs to enable cony-protected sources in the projector's settings.

Answer: C

Explanation:

The Official CompTIA® A+® Core 1 and Core 2 Student Guide (Exams 220-1001 and 220-1002) | 193 Protected content. If you encounter an error that indicates
unauthorized content or an HDCP error: « DVI, HDMI, DisplayPort, and Thunderbolt all provide support for the Digital Rights Management (DRM) mechanism High-
bandwidth Digital Content Protection (HDCP). HDCP allows a content source (such as a Blu-ray disc) to disable itself if the display adapter and monitor and/or
speaker system do not support HDCP and fail to authenticate themselves with the playback source. There have been various iterations of HDCP (at time of writing
the current version is 2.2) and backward-compatibility can be problematic as authentication may fail between devices that support different versions of the
standard.

NEW QUESTION 273

A user's laptop is running out of disk space and requires a new hard drive. The user wants to replace the existing hard drive with the fastest possible | TB HDD. A
technician assesses the user's hardware and determines the connections that are available. Which of the following drive types should the technician recommend
as the BEST choice?

A. 1TB NVMe SSD
B. 1TB flash drive
C. 1TB SATA SSD
D. 1TB SAS

Answer: A

Explanation:

The best choice for the user's laptop is a 1TB NVMe SSD. NVMe (Non-Volatile Memory Express) is a

high-performance storage protocol designed specifically for solid-state drives (SSDs). It is significantly faster than SATA SSDs and SAS hard drives, making it
ideal for users who need fast storage for their laptop. NVMe SSDs also have lower latency and higher bandwidth than traditional hard drives, making them well-
suited for data-intensive tasks such as video editing, gaming, and running multiple applications simultaneously. Additionally, NVMe offers more reliable data
reliability than traditional hard drives, and is less susceptible to performance degradation over time.

NEW QUESTION 275
A Microsoft Windows user is preparing to work in another country and needs to comply with corporate policy for data protection when copying files to portable
media. Which of the following solutions would MOST likely satisfy this requirement?

A. A USB 3.1 flash drive with BitLocker to Go installed
B. An SD memory card with NTFS

C. An xD memory card with ext3

D. A portable hard drive with FAT32

Answer: A

NEW QUESTION 276
A technician is upgrading a legacy wireless router for a home user. After installing the new router and configuring the SSID to be the same, none of the devices will
connect to the network. Which of the following should the technician check NEXT?

A. OHCP pool configuration
B. MAC filtering list

C. Wireless protocol settings
D. ONS servers

Answer: B

NEW QUESTION 281
A laptop has been returned for a screen repair. The owner insists the screen is broken, but occasionally a faded image is able to be seen in very bright settings on
the desktop. Which of the following steps should the repair technician take FIRST?

A. Replace the graphics card.

B. Replace the screen, as the customer insists.

C. Recommend the usage of an external display instead.
D. Ensure the backlight is functioning as expected.

Answer: D

NEW QUESTION 282

While using a popular videoconferencing program, the user selects a webcam, but the software is unable to open the webcam. The webcam was working the
previous day. Which of the following should be done to address this issue?

A. Close other video software and retry.

B. Adjust the conference software to a compatible resolution.

C. Switch the video from the webcam to "conference" mode.

D. Reseat or replace the webcam.

Answer: A

Explanation:
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Web cameras can input to one software at a time. Closing other video software is the first step in troubleshooting the issue as it doesn't require customer or on-site
support. After restarting the computer and adjusting the drivers, it would be time to ask the customer to reseat the webcam or replace the device.

NEW QUESTION 287
A user's mobile phone gets really hot to the touch and does not retain a charge. The user also reports that the phone is very slow, especially while charging. Which
of the following is MOST likely causing these symptoms?

A. Broken charging port
B. Digitizer failure

C. CPU overheating

D. Defective battery

Answer: D

NEW QUESTION 290
Which of the following is the SAFEST way to replace RAM on a server that has a redundant power supply?

A. Unplug one power cable.

B. Verify the RAM temperature.

C. Utilize a grounding strap.

D. Replace the RAM while the server is running.

Answer: C

Explanation:

Utilizing a grounding strap is the safest way to replace RAM on a server that has a redundant power supply. This is because the grounding strap prevents
electrostatic discharge (ESD) when handling the RAM, which can cause damage to the RAM and the server. Therefore, it is important to always use a grounding
strap when handling RAM or other sensitive components.

NEW QUESTION 294

A user has decided to build a new computer with parts purchased from a popular online vendor The user has referenced online resources to assemble the unit.
However, when the user presses the power button, the new computer does not load the operating system's installer. Instead, the onboard speaker beeps and
immediately reports an issue on the screen. Which of the following is the MOST likely issue with the new build?

A. The user did not plug in the processor's fan.

B. The user did not apply thermal paste to the CPU.
C. The user did not seat the GPU correctly.

D. The user did not install the power supply.

Answer: A
Explanation:
If a computer is not booting and the onboard speaker emits beeps, it can indicate a hardware issue. One of the most common causes of beep codes is

overheating, which can occur if the processor's fan is not properly installed and running. The processor's fan is responsible for cooling the processor and
preventing damage to the internal components.

NEW QUESTION 298

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 220-1101 dumps

@ 2 p QsseaQs LJ https://www.2passeasy.com/dumps/220-1101/ (171 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual 220-1101 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
220-1101 Product From:

https:/lwww.2passeasy.com/dumps/220-1101/

Money Back Guarantee

220-1101 Practice Exam Features:

* 220-1101 Questions and Answers Updated Frequently
* 220-1101 Practice Questions Verified by Expert Senior Certified Staff
* 220-1101 Most Realistic Questions that Guarantee you a Passon Y our FirstTry

* 220-1101 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

